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0000 10210200000000000000
2P + 1 = 510510m + 70583

gbobogobogobooboboobboobbooobuoonoboon

Q=352930000
P = 510510n + 35293

2P 4+ 1 =2(510510n + 35293) + 1 = 1021020n + 70586 + 1 = 1021020n + 70587
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70587 =3 x 3 x 11 x23 x31x1

good
2P + 1 = 33(30940n + 2139)

O0b0o0obO0o0oo33boooooobooobobooobooobDo0oboobooooobOooDbOoo
good

Q=2352970000
P = 510510n + 35297

2P + 1 = 2(510510n + 35297) + 1 = 1021020n + 70594 + 1 = 10210201 + 70595
0000010210200 20 2003,5,7,11,13,17000000 10000000

70595 =5 x 7 x 2017 x 1

oooo
2P + 1 =35(29172n + 2017)

go0odoOooOosooboboooobdbooboooooooDoobDOooDobDOobooboOooog
gogo

Q=353030000
P = 510510n + 35303

2P + 1 = 2(510510n + 35303) + 1 = 10210200 + 70606 + 1 = 1021020n + 70607
0000010210200 20 2003,5,7,11,13,17000000 1000000

70607 = 70607 x 1
oooo 10210200 000000000000
2P +1 = 510510m + 70607

goboobooobooboboobboobboobooobooo

Q=353110000
P = 510510n + 35311

2P + 1 =2(510510n + 35311) 4+ 1 = 1021020n + 70622 4+ 1 = 1021020n + 70623

0000010210200 20 2003,5,7,11,13,17000000 10000000

70623 =3 x 3 x 7x19x 59 x 1

oooo
2P + 1 = 21(48620n + 3363)
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goog

Q=1353170000
P =510510n + 35317

2P + 1 =2(510510n + 35317) + 1 = 1021020n + 70634 + 1 = 1021020n + 70635

0000010210200 20 2003,5,7,11,13,17000000 10000000

70635 =3 x5 x 17 x 277 x 1

oooo
2P + 1 = 255(4004n + 277)

O00ob00obOoo2s000000000000DO0DO0DO000O0O0DDOO0ODbOODODODOObOOn
good

Q=353230000
P =510510n + 35323

2P 4+ 1 =2(510510n + 35323) + 1 = 1021020n + 70646 + 1 = 1021020n + 70647

0000010210200 20 2003,5,7,11,13,17000000 10000000

70647 = 3 x 23549 x 1

oooo
2P + 1 = 3(340340n + 23549)

gooooooOo3sooboooooUoobo0oOoU0bOoUbDOoUobDOoUobDbOUbDOoUobDboUDboOoO
ooo

Q=1353270000
P =510510n + 35327

2P + 1 = 2(510510n + 35327) + 1 = 1021020n + 70654 + 1 = 10210200 + 70655
0000010210200 20 2003,5,7,11,13,17000000 10000000

70655 =5 x 13 x 1087 x 1

good
2P + 1 = 65(15708n + 1087)

o0oobOogoboe 000000000 bbOOObO0OO0ODO0ODOODbDUODUOODbDObODOn
good

Q=353330000
P = 510510n + 35333
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2P + 1 =2(510510n 4 35333) + 1 = 1021020n + 70666 + 1 = 1021020n + 70667

0000010210200 20 2003,5,7,11,13,17000000 1000000

70667 = 70667 x 1

o000 102102000000000000000

2P 41 =510510m + 70667

gboboobogobogoboboobboobooobooooboon

Q=353390000
P = 510510n + 35339

2P + 1 = 2(510510n + 35339) + 1 = 1021020 + 70678 + 1 = 1021020n + 70679
0000010210200 20 2003,5,7,11,13,17000000 10000000

70679 =7 x 23 x 439 x 1

oooo
2P + 1 = 7(145860n + 10097)

gooooooovyoooooooooboooboOoboobDooDboobbOODbDOoOobboUODboO
goo

Q=2353410000
P =510510n + 35341

2P + 1 = 2(510510n + 35341) + 1 = 1021020n + 70682 + 1 = 1021020n + 70683
0000010210200 20 2003,5,7,11,13,17000000 10000000

70683 = 3 x 23561 x 1

oooo
2P + 1 = 3(340340n + 23561)

oboobobooo3obobooooooboboooobobobooboDoboboobUobDoooo
goo

Q=1353510000
P = 510510n + 35351

2P 4+ 1 =2(510510n + 35351) + 1 = 1021020n + 70702 4+ 1 = 1021020n + 70703

0000010210200 20 2003,5,7,11,13,17000000 10000000

70703 = 17 x 4159 x 1
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2P + 1 = 17(60060n + 4159)

goo0OdoOooOOo1yoo0ooO0oOoO0oDOO0OOo0OoOU0OOU0oOoOoDOOoDOOOoDOobDOobOoooOoodg
good

Q=353530000
P = 510510n + 35353

2P 4+ 1 = 2(510510n + 35353) + 1 = 10210201 + 70706 4 1 = 10210201 4 70707
0000010210200 20 2003,5,7,11,13,17000000 10000000

70707 =3 x 7Tx7x 13 x37x1

ooono
2P + 1 = 273(3740n + 259)

oooooooo23oboooooooooboboooooooobooboooooooooobobBOooo
oooo

Q=353590000
P = 510510n + 35359

2P + 1 = 2(510510n + 35359) + 1 = 10210200 + 70718 + 1 = 1021020n + 70719
0000010210200 20 2003,5,7,11,13,17000000 10000000

70719 =3 x 11 x 2143 x 1

oooOo
2P + 1 = 33(30940n + 2143)

gbooboooo3dbooooboooooobooobooobooboobobooooboOoobOoo
goog

Q=1353630000
P = 510510n + 35363

2P + 1 =2(510510n 4 35363) + 1 = 1021020n + 70726 + 1 = 1021020n + 70727

obo00o0gl10210200 20 2003,5,7,11,13,17000000 1000000

70727 = 107 x 661 x 1

Ooooo 10210200 000000000000

2P 41 = 510510m + 70727

ooboobooobooboboobboobbooobooobooo
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Q=353690000
P = 510510n + 35369

2P + 1 = 2(510510n + 35369) + 1 = 10210200 + 70738 + 1 = 1021020n + 70739
0000010210200 20 2003,5,7,11,13,17000000 1000000

70739 = 127 x 557 x 1

o000 102102000000000000000

2P 41 =510510m 4 70739

gbobooobogobooboboobboobooobuoooboon

Q=353810000
P = 5105100 + 35381

2P 4+ 1 =2(510510n + 35381) + 1 = 1021020n + 70762 4+ 1 = 1021020n + 70763

0000010210200 20 2003,5,7,11,13,17000000 10000000

70763 =7 x 11 x 919 x 1

oooo
2P + 1 ="77(13260n + 919)

ooooooogoywoobooooobobooooooooooDoboobDOobDoboooboooboo
good

Q=353830000
P = 510510n + 35383

2P + 1 =2(510510n + 35383) + 1 = 1021020n + 70766 + 1 = 1021020n + 70767

0000010210200 20 2003,5,7,11,13,17000000 10000000

70767 =3 x 3 x 3 x 2621 x1

oooOo
2P + 1 = 3(340340n + 23589)

gboobobooo3obobooooooboboooobobobooboDoboboobUobDoooo
goo

Q=353890000
P = 510510n + 35389

2P + 1 =2(510510n + 35389) + 1 = 1021020n + 70778 + 1 = 1021020n + 70779
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0000010210200 20 2003,5,7,11,13,17000000 10000000

70779 = 3 x 23593 x 1

good
2P + 1 = 3(340340n + 23593)

g00obOooOo0o30b0bobooooobobOooOoOobOobobDOoboDobooobOobDOooDOoo
goo

Q=353930000
P = 510510n + 35393

2P + 1 = 2(510510n + 35393) + 1 = 10210200 + 70786 + 1 = 1021020n + 70787
0000010210200 20 2003,5,7,11,13,17000000 1000000

70787 =71 x 997 x 1

o000 10210200 0000000000000

2P 41 =510510m + 70787

gboboobogobooboboobboobbooobuoonooboon

Q=354010000
P = 510510n + 35401

2P + 1 = 2(510510n + 35401) + 1 = 1021020 + 70802 + 1 = 1021020n + 70803
0000010210200 20 2003,5,7,11,13,17000000 10000000

70803 = 3 x 3 x 7867 x 1

oooo
2P + 1 = 3(340340n + 23601)

oooooooo3sooooooooooooboOoboobDoobDOoobbOODoOOobDboOoDboO
goo

Q=354070000
P = 510510n + 35407

2P + 1 =2(510510n + 35407) + 1 = 1021020n + 70814 + 1 = 1021020n + 70815

0000010210200 20 2003,5,7,11,13,17000000 10000000

70815 =3 x5 x 4721 x 1

oooo
2P +1 = 15(68068n + 4721)
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obogoooooioooobooooooboboooboobo0obooboboooobOoobOoo
goog

Q=354170000
P =510510n + 35417

2P + 1 =2(510510n + 35417) + 1 = 1021020n + 70834 4+ 1 = 1021020n + 70835

0000010210200 20 2003,5,7,11,13,17000000 10000000

70835 =5 x 31 x 457 x 1

oooo
2P + 1 = 5(204204n + 14167)

o00ob0ooO0o0os000b00b00000bO0ODOO0DO0OO0bO0ObOODODO0ODODObO0OODbDODbDODOn
goo

Q=2354190000
P =510510n + 35419

2P + 1 =2(510510n + 35419) + 1 = 1021020n + 70838 4+ 1 = 1021020n + 70839

0000010210200 20 2003,5,7,11,13,17000000 10000000

70839 =3 x 3 x 17 x 463 x 1

oooo
2P 4+ 1 = 51(20020n + 1389)

goOoOdoOooOoslbobobo0o0o0ob0obOobooU0oboUoOo0oDOobDUo0oDLDOobDOobDobOboOooboO
good

Q=354230000
P = 5105101 + 35423

2P + 1 = 2(510510n + 35423) + 1 = 10210200 + 70846 + 1 = 1021020n + 70847
0000010210200 20 2003,5,7,11,13,17000000 10000000

70847 =7 x29x 349 x 1

oo
2P + 1 = 7(145860n + 10121)

O0o0ooooOovyoo0oooO0ooO0oOo0ooO0DOoO0oOo0oDOOo0ooOoOOoDOoooDOoOoDOod
goo

Q=354200000
P = 5105100 + 35429
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2P + 1 =2(510510n + 35429) + 1 = 1021020n + 70858 + 1 = 1021020n + 70859

0000010210200 20 2003,5,7,11,13,17000000 1000000

70859 = 59 x 1201 x 1

o000 102102000000000000000

2P 41 =510510m 4 70859

gboboobogobogoboboobboobooobooooboon

Q=1354370000
P = 5105100 + 35437

2P + 1 = 2(510510n + 35437) + 1 = 1021020n + 70874 + 1 = 10210200 + 70875
0000010210200 20 2003,5,7,11,13,17000000 10000000

70875 =3 x3x3x3xHxHxbxTx1

0ooo
2P + 1 = 105(9724n + 675)

gooooobooles0oboOoboOo0oOoOOo0oDbDOoOoDOOoUDObOOobObOO0oOOoOoDOoODOO
good

Q=2354430000
P = 5105101 + 35443

2P + 1 = 2(510510n + 35443) + 1 = 10210200 + 70886 + 1 = 1021020n + 70887
0000010210200 20 2003,5,7,11,13,17000000 10000000

70887 = 3 x 23629 x 1

oooo
2P + 1 = 3(340340n + 23629)

oboobobooo3obobooooooboboooobobUobooboDoboboobOobDoooo
goo

Q=354470000
P =510510n + 35447

2P 4+ 1 =2(510510n + 35447) + 1 = 1021020n + 70894 4+ 1 = 1021020n + 70895

0000010210200 20 2003,5,7,11,13,17000000 10000000

70895 =5 x 11 x 1289 x 1
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oooo
2P + 1 = 55(18564n + 1289)

obooboooos bbb boobooboobooooobOoobOoo
good

Q=354490000
P = 5105101 + 35449

2P 4+ 1 = 2(510510n + 35449) + 1 = 10210201 + 70898 + 1 = 10210201 + 70899
0000010210200 20 2003,5,7,11,13,17000000 10000000

70899 = 3 x 23633 x 1

good
2P + 1 = 3(340340n + 23633)

oooooooob3sooooooboobooooooobooooooooboboooooobbBbOoOo
ooo

Q=354590000
P = 510510n + 35459

2P + 1 = 2(510510n + 35459) + 1 = 10210200 + 70918 + 1 = 1021020n + 70919
0000010210200 20 2003,5,7,11,13,17000000 1000000
70919 = 70919 x 1
0000 10210200000000000000
2P + 1 = 510510m + 70919

gboboobogobogbooboobboobbooobuoooboon

Q=354610000
P = 510510n + 35461

2P 4+ 1 =2(510510n + 35461) + 1 = 1021020n + 70922 4+ 1 = 1021020n + 70923

0000010210200 20 2003,5,7,11,13,17000000 10000000

70923 = 3 x 47 x 503 x 1

oooo
2P + 1 = 3(340340n + 23641)

gooooooOo3soooooooooboooOoUobOoUobDOooDbOoUobbOUDbDOoOobboUDoO
goo
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Q=354670000
P = 510510n + 35467

2P + 1 = 2(510510n + 35467) + 1 = 1021020n + 70934 + 1 = 10210201 + 70935
0000010210200 20 2003,5,7,11,13,17000000 10000000

70935 =3 x 5 x 4729 x 1

oooo
2P + 1 = 15(68068n + 4729)

gboooooooliboooobooooooboooboooboobooboboDooobOoobOoo
goodg

Q=354710000
P = 5105100 + 35471

2P + 1 = 2(510510n + 35471) + 1 = 1021020n + 70942 + 1 = 10210200 + 70943
0000010210200 20 2003,5,7,11,13,17000000 1000000

70943 = 61 x 1163 x 1

Ooooo 10210200 000000000000

2P +1 = 510510m + 70943

gboboobooobooboboobboobbooboooboon

Q=354730000
P = 5105101 + 35473

2P + 1 =2(510510n + 35473) + 1 = 1021020n + 70946 + 1 = 1021020n + 70947

0000010210200 20 2003,5,7,11,13,17000000 10000000

70947 =3 x 3 x 7883 x 1

oooOo
2P + 1 = 3(340340n + 23649)

gboobobooo3obobooooooboboooobobobooboDoboboobUobDoooo
goo

Q=35480 0000
P = 510510n + 35489

2P + 1 =2(510510n + 35489) + 1 = 1021020n + 70978 + 1 = 1021020n + 70979
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0000010210200 20 2003,5,7,11,13,17000000 1000000

70979 = 70979 x 1

oooo 10210200 000000000000

2P +1 = 510510m + 70979

goboobooobooboboobboobbooboooboon

Q=235491 0000
P = 5105101 + 35491

2P + 1 = 2(510510n + 35491) + 1 = 1021020n + 70982 + 1 = 10210200 + 70983
0000010210200 20 2003,5,7,11,13,17000000 10000000

70983 =3 x 3 x3x11x239x1

oooOo
2P + 1 = 33(30940n + 2151)

gboooooo3dboooobooooobobooobooboobooboboooobOoobOoo
good

Q=1355010000
P = 5105100 + 35501

2P + 1 =2(510510n + 35501) + 1 = 1021020n + 71002 + 1 = 1021020n + 71003
oo0o000gl10210200 20 2003,5,7,11,13,17000000 1000000
71003 =19 x 37 x 101 x 1
o000 10210200 000000000000
2P +1 =510510m + 71003

ooboobooobooboboobboobboobooobooo

Q=355070000
P = 510510n + 35507

2P + 1 =2(510510n + 35507) + 1 = 1021020n + 71014 4+ 1 = 1021020n + 71015

0000010210200 20 2003,5,7,11,13,17000000 10000000

71015 =5 x 7 x 2029 x 1

oooo
2P + 1 = 35(29172n + 2029)
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goog

Q=355090000
P = 5105101 + 35509

2P + 1 =2(510510n + 35509) 4+ 1 = 1021020n + 71018 4+ 1 = 1021020n + 71019

0000010210200 20 2003,5,7,11,13,17000000 10000000

71019 =3 x 3 x 13 x 607 x 1

oooo
2P + 1 = 39(26180n + 1821)

000000003 oooooooooboooobooobo0oboobobooooDboOooDbOoon
good

Q=2355210000
P =510510n + 35521

2P + 1 =2(510510n + 35521) 4+ 1 = 1021020n + 71042 4+ 1 = 1021020n + 71043

0000010210200 20 2003,5,7,11,13,17000000 10000000

71043 =3 x 7 x 17 x 199 x 1

oooo
2P + 1 = 357(2860n + 199)

oOo0ooOoooo3rogobofooooooopooobogooobbo0oooooDoUuDooO
good

Q=355270000
P = 510510n + 35527

2P + 1 = 2(510510n + 35527) + 1 = 1021020n + 71054 + 1 = 10210200 + 71055
0000010210200 20 2003,5,7,11,13,17000000 10000000

71055 =3 x 3 x5 x 1579 x 1

oooo
2P + 1 = 15(68068n + 4737)

oboooooolbooobooobooobobooobooobOooboobUobooooboOoobOoo
good

Q=355310000
P = 5105100 + 35531
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2P + 1 =2(510510n + 35531) 4+ 1 = 1021020n + 71062 4+ 1 = 1021020n + 71063

0000010210200 20 2003,5,7,11,13,17000000 1000000

71063 = 179 x 397 x 1

o000 102102000000000000000

2P 41 =510510m 4 71063

gboboobogobogoboboobboobooobooooboon

Q=355330000
P = 510510n + 35533

2P + 1 = 2(510510n + 35533) + 1 = 10210200 + 71066 + 1 = 1021020n + 71067
0000010210200 20 2003,5,7,11,13,17000000 10000000

71067 = 3 x 23689 x 1

oooo
2P + 1 = 3(340340n + 23689)

gooooooo3soooooooooboooboOoboobooDbOoobboODoOobboUOoDboO
goo

Q=355370000
P = 510510n + 35537

2P + 1 = 2(510510n + 35537) + 1 = 1021020n + 71074 + 1 = 10210200 + 71075
0000010210200 20 2003,5,7,11,13,17000000 10000000

71075 =5 x5 x 2843 x 1

oooo
2P + 1 = 5(204204n + 14215)

oboobobooosOob0obUobOOoOobo0obUObOobOUobOb0obUObDOobDOobObOOobOobDOobDOoo
goo

Q=1355430000
P = 510510n + 35543

2P 4+ 1 =2(510510n + 35543) + 1 = 1021020n + 71086 + 1 = 1021020n + 71087

0000010210200 20 2003,5,7,11,13,17000000 1000000

71087 = 67 x 1061 x 1
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2P 41 =510510m + 71087

gboboobogobooboboobboobboooboooboon

Q=355490000
P = 510510n + 35549

2P + 1 = 2(510510n + 35549) + 1 = 10210200 + 71098 + 1 = 1021020n + 71099
0000010210200 20 2003,5,7,11,13,17000000 10000000

71099 =7 x 7 x 1451 x 1

oooo
2P + 1 = 7(145860n + 10157)

gooooooOgvoUoooOoooOoobOOoU0OOoU0bDOUDOoUobDOoUobDOUDbDOUobDOUODOO
oono

Q=1355510000
P = 510510n + 35551

2P + 1 = 2(510510n + 35551) + 1 = 10210200 + 71102 + 1 = 1021020n + 71103
0000010210200 20 2003,5,7,11,13,17000000 10000000

71103 =3 x 137 x 173 x 1

oo
2P + 1 = 3(340340n + 23701)

g0obobooo30bobobooooobobooooboboboDoboDobooobUobDOobDoo
goo

Q=355570000
P = 510510n + 35557

2P 4+ 1 =2(510510n + 35557) + 1 = 1021020n + 71114 + 1 = 1021020n + 71115

0000010210200 20 2003,5,7,11,13,17000000 10000000

71115 =3 x 5 x 11 x 431 x 1

oooo
2P 4 1 = 165(6188n + 431)

goooooboOoles0obObO0O0O0ODOO0O0ODOODOUODOODbDOOO0OOOODOUODOO
good
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Q=1355610000
P =510510n + 35561

2P + 1 = 2(510510n + 35561) + 1 = 10210200 + 71122 + 1 = 1021020n + 71123
0000010210200 20 2003,5,7,11,13,17000000 10000000

71123 =13 x 5471 x 1

ogoodo
2P + 1 = 13(78540n + 5471)

go0do0obO0ooooo0ooobO0dbOoOooU0ooOUoooDOOobDOoOoDOobDOobOoooOooog
goog

Q=355690000
P = 510510n + 35569

2P + 1 = 2(510510n + 35569) + 1 = 10210200 + 71138 + 1 = 1021020n + 71139
0000010210200 20 2003,5,7,11,13,17000000 10000000

71139 =3 x 23 x 1031 x 1

good
2P + 1 = 3(340340n + 23713)

goobobooo3oboboooooobobOooOoOobo0obUobDobDOobOoobOobOobDOoo
goo

Q=355730000
P =510510n + 35573

2P + 1 = 2(510510n + 35573) + 1 = 10210200 + 71146 + 1 = 1021020n + 71147
0000010210200 20 2003,5,7,11,13,17000000 1000000
71147 = 71147 x 1
0000 10210200000000000000
2P + 1 = 510510m + 71147

gbobogobooobooboboobboobbooobuooooboon

Q=355790000
P = 510510n + 35579

2P + 1 =2(510510n + 35579) + 1 = 1021020n + 71158 + 1 = 1021020n + 71159
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71159 = 11 x 6469 x 1

oooo
2P + 1 = 11(92820n + 6469)

oboobooobolnooooboobooobobooobooboobooboboooobOoobOoo
good

Q=355870000
P = 5105100 + 35587

2P + 1 = 2(510510n + 35587) + 1 = 1021020n + 71174 + 1 = 10210200 + 71175
0000010210200 20 2003,5,7,11,13,17000000 10000000

71175 =3 x5 xHx 13 x 73 x1

oooo
2P + 1 = 195(5236n + 365)

ooooooooysoooooooooooopboooogoboobo0ooooooDooDoo
good

Q=355910000
P = 510510n + 35591

2P 4+ 1 =2(510510n + 35591) 4+ 1 = 1021020n + 71182 4+ 1 = 1021020n + 71183
oo0o00o10210200 20 2003,5,7,11,13,17000000 10000000

71183 =7 x 10169 x 1

oooo
2P + 1 = 7(145860n + 10169)

o0o0oooogvyoUooOoO0oOoO0OOoO0OOo0DOOo0DODO00ODOOo0DOOUODOoODOOUODOOOd
goo

Q=1355930000
P = 5105101 + 35593

2P + 1 =2(510510n + 35593) + 1 = 1021020n + 71186 + 1 = 1021020n + 71187

0000010210200 20 2003,5,7,11,13,17000000 10000000

71187 =3 x 61 x 389 x 1

oooo
2P + 1 = 3(340340n + 23729)
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Q=355970000
P = 510510n + 35597

2P + 1 = 2(510510n + 35597) + 1 = 1021020n + 71194 + 1 = 10210200 + 71195
0000010210200 20 2003,5,7,11,13,17000000 10000000

71195 =5 x 29 x 491 x 1

oooo
2P + 1 = 5(204204n + 14239)
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goo

Q=355990000
P = 5105101 + 35599
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Q=396310000
P = 510510n + 39631

2P + 1 = 2(510510n + 39631) + 1 = 1021020n + 79262 + 1 = 10210200 + 79263
0000010210200 20 2003,5,7,11,13,17000000 10000000

79263 =3 x 3 x 8807 x 1

0ooo
2P + 1 = 3(340340n + 26421)
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Q=396430000
P = 5105100 + 39643

2P 4+ 1 =2(510510n + 39643) + 1 = 1021020n + 79286 + 1 = 1021020n + 79287

0000010210200 20 2003,5,7,11,13,17000000 10000000

79287 =3 x 13 x 19 x 107 x 1
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2P + 1 = 39(26180n + 2033)
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Q=396470000
P = 510510n + 39647

2P 4+ 1 = 2(510510n + 39647) + 1 = 10210201 + 79294 + 1 = 10210201 4 79295
0000010210200 20 2003,5,7,11,13,17000000 10000000

79295 = 5 x 15859 x 1

oooo
2P + 1 = 5(204204n + 15859)
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ooo

Q=396490000
P = 510510n + 39649

2P + 1 = 2(510510n + 39649) + 1 = 1021020n + 79298 + 1 = 10210200 + 79299
0000010210200 20 2003,5,7,11,13,17000000 10000000

79299 =3 x3x3x3x11x8)x1
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2P + 1 = 33(30940n + 2403)
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Q=396530000
P = 510510n + 39653

2P + 1 =2(510510n 4 39653) + 1 = 1021020n + 79306 + 1 = 1021020n + 79307

oboo0o00o10210200 20 2003,5,7,11,13,17000000 1000000

79307 =71 x 1117 x 1

o000 10210200 000000000000

2P 41 = 510510m + 79307
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Q=139659 0000
P = 510510n + 39659

2P + 1 = 2(510510n + 39659) + 1 = 10210200 + 79318 + 1 = 1021020n + 79319
0000010210200 20 2003,5,7,11,13,17000000 1000000

79319 = 79319 x 1

o000 10210200 0000000000000

2P 41 =510510m 4+ 79319
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Q=39%670000
P = 510510n + 39667

2P 4+ 1 =2(510510n + 39667) + 1 = 1021020n + 79334 + 1 = 1021020n + 79335

0000010210200 20 2003,5,7,11,13,17000000 10000000

79335 =3 x3x5Hx41 x43 x 1

oooo
2P + 1 = 15(68068n + 5289)
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Q=396710000
P = 510510n + 39671

2P + 1 =2(510510n + 39671) + 1 = 1021020n + 79342 4+ 1 = 1021020n + 79343

0000010210200 20 2003,5,7,11,13,17000000 10000000

79343 =11 x 7213 x 1

0ooo
2P + 1 = 11(92820n + 7213)

obooooobolnooooboooooboboooboooboobooboboooobOoobOoo
good

Q=396730000
P = 510510n + 39673

2P + 1 =2(510510n 4 39673) + 1 = 1021020n + 79346 + 1 = 1021020n + 79347
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79347 = 3 x 26449 x 1

oooo
2P + 1 = 3(340340n + 26449)
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Q=396790000
P = 5105101 + 39679

2P + 1 = 2(510510n + 39679) + 1 = 10210200 + 79358 + 1 = 1021020n + 79359
0000010210200 20 2003,5,7,11,13,17000000 10000000

79359 =3 x 7 x 3779 x 1

oooo
2P + 1 = 21(48620n + 3779)
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Q=396910000
P = 5105101 + 39691

2P + 1 = 2(510510n 4 39691) 4+ 1 = 1021020n + 79382 + 1 = 1021020n + 79383
0000010210200 20 2003,5,7,11,13,17000000 10000000

79383 = 3 x 47 x 563 x 1

oooo
2P + 1 = 3(340340n + 26461)
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Q=1397010000
P = 510510n + 39701

2P + 1 =2(510510n + 39701) 4+ 1 = 1021020n + 79402 4+ 1 = 1021020n + 79403

0000010210200 20 2003,5,7,11,13,17000000 1000000

79403 = 271 x 293 x 1

oooo 10210200 000000000000

2P 41 =510510m + 79403
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Q=397030000
P = 5105101 + 39703

2P + 1 =2(510510n + 39703) 4+ 1 = 1021020n + 79406 + 1 = 1021020n + 79407

0000010210200 20 2003,5,7,11,13,17000000 10000000

79407 =3 x 3 x 3 x 17 x 173 x 1

oooo
2P + 1 =51(20020n + 1557)
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